N & 0l & AF S & M M

20198 &= 20l A LEHS H S X &2t
SH =SNEMY
H: 2J)IEE2e & A
ool 3RPE MAAY EX EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S XA 2 91,576,686 84,397,417 7,179,269
= 40,288,786
Jl 18,090
& 26,647,579
Al 24,622,231
2ItEE2e & X 4,668,962 3,592,689 1,076,273
o= 964,380
Al 3,704,582
S=2EE HdAAIY =X 4,668,962 3,592,689 1,076,273
o= 964,380
Al 3,704,582
BEAAL 2224 56,000 66,880 A 10,880
201 et 9| 31,600 31,120 480
01 At 221 4,000 4,000 0
O1 geragy| 3,000
>EEANL 22l £8H 3,000,000 514 3,000
06 U2 1,000
PEXNYRB(AISABE 29)
1,000, 000& = 14! 1,000
02 =224 H| 27,600 27,120 480
O1 2222 2 HA 6,600
DESsE M3 450,000& =12& 5,400
DESE AMolEZ AIE2 100,000& ~12& 1,200
O3 A& &H| S XYl 21,000
DEEAE A2 20,000,000 x 1Al 20,000
DEsE I =S X2Hl 1,000,000 *14! 1,000
202 044 12,000 11,760 240
01 2L Y| 12,000 11,760 240
OEZg=xaA 1,000,000 x12& 12,000
307 2Iz2to| & 12,400 12,400 0
05 QIZ2tRE 2 12,400 12,400 0
O sSA&2e QI2HAE 12,400,000 « 1Al 12,400
EgEEHASH 57,884 57,884 0
307 2iz2to| A 57,884 57,884 0
05 QIZ2tR E 2 57,884 57,884 0
OfFA SEEE32 89 57,884,000 «14A! 57,884
S=2ECH XN 480,698 165,925 314,773
= 134,000
Al 346,698
301 et A= 5,000 0 5,000
09 #HAIAHI BEAZ 5,000 0 5,000
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2N
X ZH -
L= B

el

SXE3
2JtEE2e € X
SREE d2AY =T

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 11,500 12,500 A 1,000
== 2,300
Al 9,200
01 e =t 11,500 12,500 A 1,000
O=gg2X ®F22H &
11,500,000 = 1Al 11,500
& 2,300
Al 9,200
2RE FEHH=E A& 784,080 0 784,080
= 784,080
301 LBt A= 784,080 0 784,080
& 784,080
01 AISIE& A %52 784,080 0 784,080
OL2 EFHHULY 30,000 *2,1782Ix12& 784,080
& 784,080
2ZINESUHAX NSAE 3,156,000 3,152,000 4,000
301 et A= 3,156,000 3,152,000 4,000
01 Al B & A 462 3,156,000 3,152,000 4,000
OBEd0x< 70,000 «3,700Q1 x12& 3,108,000
OMNERIZ= 200, 000& x240¢! 48,000
&I XHoH AF X & 49,200 52,800 A 3,600
= 43,200
Al 6,000
301 et A= 49,200 52,800 A 3,600
= 43,200
Al 6,000
09 SHAIAHI EAZ 6,000 6,000 0
OXHMHA =2H A B4
3,000,000& x23| 6,000
12 JIEtE A2 43,200 46,800 A 3,600
OMIIEH S E & X S3tMEH|
43,200,000 =14l 43,200
& 43,200
KNEAISEX J|BtR=S 7,825,079 6,842,221 982,858
= 3,202,627
J| 18,090
= 551,020
Al 4,053,342
=0 H35 1,452,945 1,373,369 79,576
= 716,633
& 263,040
Al 473,272
MAZSH (=0 QAAA) 183,380 183, 380 0
= 146,704
o 18,338




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 18,338
307 2iz2to| A 183,380 183, 380 0
= 146,704
= 18,338
Al 18,338
11T AISIEXAIEEX 183,380 183, 380 0
OMHASZH(==0l QAUAIAL)
183,380,000 =14l 183,380
= 146,704
& 18,338
Al 18,338
L=0lAlE 29HI(L=0 QLUAANERY) 805,256 763,830 41,426
= 563,679
& 241,577
307 2iz2to| A 805,256 763,830 41,426
= 563,679
= 241,577
10 MM SAANEEHESIGHEX 805,256 763,830 41,426
OL=0 QUAERY 805,256,000 x 1Al 805,256
= 563,679
& 241,577
=0 S 2NN (s AAE JsEY) 12,500 3,850 8,650
= 6,250
& 3,125
Al 3,125
401 Al HI L £ 0HHI 12,500 3,850 8,650
= 6,250
& 3,125
Al 3,125
01 Al& H| 12,500 3,850 8,650
Ok=0 QAAAL(FFE2XT) JsEL
12,500,000 « 1Al 12,500
= 6,250
= 3,125
Al 3,125
=0 QUALE 2 15,920 10,000 5,920
201 2Et24H Y| 11,120 10,000 1,120
01 AP 2t 2] d| 1,120 0 1,120
O3 g% 1,120
DLEOQUAL S L MASIRE HAL
= 70,000 *491 %43 1,120
02 24| 10,000 10,000 0
O3 A& &H| S XYl 10,000
DRAFT2LX ALEE S
10,000,000 « 1Al 10,000
301 et A= 1,200 0 1,200




2AH: SRS
g NS A =X Jlg7=
ol w0l B3 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 1,200 0 1,200
O™#eAX HIFEX MHI 10,000& 102!« 12& 1,200
307 21201 A 3,600 0 3,600
05 RIZt2IEt = 3,600 0 3,600
OO0kt & 5 A0S
30,0003 103 x12& 3,600
=0 SENJAdH 23 93,328 83,815 9,513
307 glz2+0ol & 93,328 83,815 9,513
10 ALSISEXAIEEE2EHEX 93,328 83,815 9,513
Ok=0 ZEXNJALH2ZE  93,328,000& 14! 93,328
=0 AEANE 29 342,561 323,694 18,867
307 21201 A 342,561 323,694 18,867
10 ALSISXAIEEE2IHEX 342,561 323,694 18,867
O=FL=0dH 29 236,395,000 x 14! 236,395
OUANN=E 29 106, 166,000 14 106, 166
Sstolg2 XA 72,220 73,450 A 1,230
= 5,000
< 16,914
Al 50,306
SE0IE=0 A=Fe Wl 10,840 11,400 A 560
201 24l 840 1,400 A 560
01 At2 22l H| 840 1,400 560
03 2y+g 840
DSe0IEF0 XHg2s &+
70,000 621 x23] 840
307 21201 A 10,000 10,000 0
11 ABI=Z XA R 10,000 10,000 0
OosstolgFe Fxwel el
10,000,000 =14l 10,000
S50/250 XAEols 2 5,000 5,500 A500
2 5,000
201 2et2 Y| 2,800 3,000 A 200
= 2,800
01 At 221l 400 500 A 100
O1 gt=ZHl 400
DESOIEFUNSFE S 2L +=EH|
400,000& » 14! 400
= 400
03 A2 Z Hl 2,400 2,500 A 100
OS&tolg=o 38 L HAIES Atz E
St A 2,400,000 » 14! 2,400
= 2,400
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X ZH -
L= B

el

EPARSE )
KSAAS =R DIt =

S80/2F0 X8

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 2,200 2,500 A 300
= 2,200
09 SALAHIEA S 2,200 2,500 A 300
OS&olg=e gy L HAILES Atz E
SO AH24 2,200,000 » 14! 2,200
= 2,200
SS01gF:2 () SHXAAY 35,880 29,500 6,380
< 10,764
Al 25,116
307 2I2H0I A 35,880 29,500 6,380
< 10,764
Al 25,116
11 AL S RALEE = 35,880 29,500 6,380
Ssogx:=21(AH) SR A
35,880,000& » 14! 35,880
< 10,764
Al 25,116
S0l AHHEES XA 6,000 12,000 A 6,000
< 1,800
Al 4,200
307 21201 A 6,000 12,000 A 6,000
< 1,800
Al 4,200
11 ALSI S RAEE = 6,000 12,000 A 6,000
OSsolg:0 A0XS Xd
6,000,000& » 14! 6,000
< 1,800
Al 4,200
SsolgF0 e NAS HASK 14,500 11,000 3,500
= 4,350
Al 10,150
307 21201 A 14,500 11,000 3,500
= 4,350
Al 10,150
11 AL SXAEE X 14,500 11,000 3,500
O=s0lg=8 HAXNAS A=A
14,500, 000& 14 14,500
< 4,350
Al 10,150
AeI =X EH X 1,985,896 1,369,694 616,202
= 1,432,416
= 32,012
Al 521,468
ASISXAESAR SX =S 131,760 120,240 11,520
< 26,352
Al 105,408




2N

X{ XH -
S =

EPARSE )
KSAAS =R DIt =

&S MEXNEH X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 gt L= 131,760 120,240 11,520
< 26,352
Al 105,408
12243 131,760 120,240 11,520
OAZISXIAIESALR SX =S 131,760
DL=0AlY, SSAI=X
131,760, 0002 14 131,760
< 26,352
Al 105,408
AMBIEXAEESAA doilE2 9,880 9,786 94
< 4,940
Al 4,940
307 glz2+ol & 9,880 9,786 94
< 4,940
Al 4,940
06 283 9,880 9,786 94
OMEISXIAESALA &2
9,880,000 » 14 9,880
< 4,940
Al 4,940
MNIZ2RRE 43 408,240 290,484 117,756
301 L2 A= 408,240 290,484 117,756
0B A =RRAB LS 408,240 290,484 117,756
OSAIZ0F ASIS2R23 24 408,240
> = Al 6,000 x2802!x20 «12& 403,200
DaGHEE IOt 18,0002 »2802! 5,040
MNI=2RRE E= 1,432,416 949, 184 483,232
= 1,432,416
301 et a = 1,432,416 949, 184 483,232
= 1,432,416
0B M ELRIBAS 1,432,416 949,184 483,232
ONISReH (52,184, TSHl)
1,432,416,000& 14 1,432,416
= 1,432,416
M X2 SAX HHME = 3,600 0 3,600
< 720
Al 2,880
301 L2 A S 3,600 0 3,600
< 720
Al 2,880
12 JIEtE4 3 3,600 0 3,600
OAMEISXII& SAX =X+ 3,600
DA EXESE, AISIEREAM S
3,600,000& »14! 3,600
< 720




2N
X ZH -
L= B

el

EPARSE )
KSAAS =R DIt =
A2l =S XE 2 X2

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
| | Al 2,880
NS AS =X JlEEXE A 2,731,970 2,718,208 13,762
= 9,000
Dl 18,090
< 135,600
Al 2,569,280
NEAMIEXRNE2AG 2 70,000 65,000 5,000
= 14,000
Al 56,000
307 QI2t0| ™ 70,000 65,000 5,000
= 14,000
Al 56,000
10 Al SXAIEEE2IHIEX 70,000 65,000 5,000
OX<EAMEXNEE2S 24 70,000,000 14! 70,000
& 14,000
Al 56,000
AL 2 X =M & AF 15,000 15,000 0
307 QI2t01 ™ 15,000 15,000 0
11 AMSAAEEXR 15,000 15,000 0
OMIIEXUHSMH £ Mst
15,000, 000& * 1Al 15,000
A EXHE 29X 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
11 AMISAAEE X 10,000 10,000 0
OAZEXUHE 29X 10,000,000 1Al 10,000
Al At EXNHEHSS 101,040 101,040 0
201 LBt Y| 101,040 101,040 0
02 332ZH| 101,040 101,040 0]
O1222=2 % HA 22,240
>DEIRS 1,100,000& ~12& 13,200
>ABIEE 22 340,000& x12& 4,080
DLNESERYLIFES 500,000& *x13] 500
DAUSEHLUEHE Y St ALUNMEI Y|
700,000& 13| 700
DSEs2AD| HIBAMESES 160,000& *13] 160
D& =S 100,000& =128 1,200
DEIILH B2 200,000& x12& 2,400
02 dZH| 15,600
> CAIJEA 1,300,000& ~12& 15,600
O3 A& &HI s X bl 63,200
DAIEZE X2 10,000, 000& » 1Al 10,000
DEY3 A 500,000& *23| 1,000




P ESANE AL
D NEARI =X OBt E
NG AME ST IRl

(=}

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DAESZ(2aHM2AE) Ea
1,000, 000& 13| 1,000
DA SEXHE A2 EY
50,000,000& =14 50,000
DEAAs EY 100,000& *123] 1,200
OITHEI RS ALY 480 480 0
201 L2l 480 480 0
02 23224l 480 480 0
O1 22232 2 HA 480
DTS S N SSEUAMAYE SLUAMER
40,000& x12& 480
NAMEHE AN 2 25,000 82,000 257,000
307 21201 A 25,000 25,000 0
11T MISRAISEEX 25,000 25,000 0
OXAASEZEAM A2 Al F2
25,000,000 =14l 25,000
NEASISZEAN & 435t 45,000 74,942 A 29,942
< 6,600
Al 38,400
307 glz2+ol & 45,000 74,942 N 29,942
< 6,600
Al 38,400
10 ALSISEXAIEEE2EHEX 45,000 74,942 A 29,942
OXYGAZIE2EZEAM 2¥ 45,000,000 » 14 45,000
< 6,600
Al 38,400
I =ZFEYIAIMNARY 70,000 70,000 0
307 21201 A 70,000 70,000 0
10 M2 SXNANEHE2IHEX 70,000 70,000 0
OJIZZEYIANY 29 70,000
DRAFIZFEEYWT 35,000,000& =14 35,000
DRAFILINEZZENWS 35,000,000& =14 35,000
FE0R ALY 75,000 50,000 25,000
< 15,000
Al 60,000
307 gl2tol & 75,000 50,000 25,000
< 15,000
Al 60,000
10 AL SXAIEEE2EH EX 75,000 50,000 25,000
OZFC DALY 75,000,000 » 14! 75,000
< 15,000
Al 60,000
FEWIRIEEIHIXA 2,000 8,000 A 6,000




SH SNEHY
o NASZX RS
XA

S XNSBAZ =X J|etEH (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
402 212t X201 A 2,000 8,000 A 6,000
01 DIZFXI2AIE E X (XM THE ) 2,000 8,000 A 6,000
OZcYW S2AAH K& 2,000
DRAFIZTZEEYWT 1,000,000& * 14 1,000
DRFIYIZECWT 1,000,000& * 14! 1,000
S S X2 K& 2,033,350 1,931,826 101,524
307 212t01 & 1,913,350 1,819,026 94,324
10 Al SXAIEEE2IHIEX 1,895,350 1,801,026 94,324
OZEgMeEsI2 29 1,895,350
DIIEHESEAIS S X2 504,542,000 *14] 504,542
>DHEESEAISSA2 523,706,000 * 14! 523,706
D RFEEAE SX & 416,697,000& * 1A 416,697
DEASSHSEAME S 2
429,405,000& * 14 429,405
PolSEXN2IIESEANI=RR)
21,000,000& *14] 21,000
11 AMIASANAEE X 18,000 18,000 0
O0lssEXNAOISHBSEAS=ST2) ALY
18,000,000 *=14] 18,000
402 Q12+ X2 0| & 120,000 112,800 7,200
01 DI2FXI2AIE E X (XM THE ) 120,000 112,800 7,200
OJNEZTEAI=RZ JsE22 15,000
DHOIS, X A (SAA, T2 A
10,300, 000& =14 10,300
>ET AAISA 1,900,000& * 14 1,900
>elTZ A 2,800,000& = 1CH 2,800
Od=TEA=XH JIsES 45,000
PATHEHIH &X 45,000,000& * 14 45,000
OYESTEAMISAZH JIsEL 60,000
PATHEHIH &X 50,000, 0003 *14] 50,000
DASUE &M 10,000, 000& 14! 10,000
AFAMAIZ S E Al A 3,240 3,240 0
201 et A H| 3,240 3,240 0
01 AFR2t2l bl 3,240 3,240 0
O1 g8tx=2H| 2,400
DRFTA AL SEE Al& =8I 2,400
O &MY 400,000& 34 1,200
ogu 400,000& 34 1,200
O3 28 +Y 840
DAAIRE &Y 70,000& x621 23] 840
AXA MBEXO ENES IS 15,000 10,000 5,000




SH SNEHY
o NASZX RS
XA

el NIASX JIEEd (Sl & &)
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
307 21201 & 15,000 10,000 5,000
04 QIZHHALAIH 2 = 15,000 10,000 5,000
O3FAl A=XQ snNseHAIS
15,000,000 * 14! 15,000
SHs =X3Es BxdEXd 4,800 4,800 0
301 LEE N F 4,800 4,800 0
12IJEEd=s 4,800 4,800 0
Os8s =XdlEs Exe&AXA
1,200,000 «4J4 2~ 4,800
Ot SAMEIA MHSRNIA(BH=EXR) 29,700 238,500 208,800
Jl 18,090
Al 11,610
405 TtatFH S 29,700 238,500 A 208,800
Il 18,090
Al 11,610
01 A& ESFH SH 29,700 238,500 208,800
OXO0tte SXAEIA HEXE
29,700,000& * 14! 29,700
Jl 18,090
Al 11,610
Ot SAAMEIA X (BER) 9,000 0 9,000
= 9,000
405 XtatE SHI 9,000 0 9,000
= 9,000
01 ML ESFHSH 9,000 0 9,000
OO0t SXAMHIA HSEX2 (MIIXHE)
9,000,000% *1CH 9,000
= 9,000
NE=ERNMEIA 7,200 6,480 720
202 O Hl 7,200 6,480 720
01 SLHOYI 7,200 6,480 720
OXNE=XNYR =N HI 600,000& 12 7,200
SASXNSS At 2] A 3,000 3,500 A500
201 L Et2A | 3,000 3,500 A500
01 AtR 22l | 3,000 3,500 A500
O1 Let==ZH| 3,000
DESEAd22AANY 2 =S|
3,000, 000% 14 3,000
=X 13,160 13,400 A 240
201 fet2E | 5,000 5,000 0
01 Ar22t2l bl 5,000 5,000 0
O1 Let==ZH| 5,000
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N
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AR =X DIEt 2=
AMESK JleEH

(=}

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DAANTAN EES WE
5,000,000& =14 5,000
202 O4dl 8,160 8,400 A 240
01 = LH 4 Hi 8,160 8,400 A 240
OsL=RX g2+ bl 600,000& »12& 7,200
OHEEHH HR=¢ (Ul 80,000& 123 960
S|AERHH 2 (OISHSEAMIEXZ) 200,000 0 200,000
< 100,000
Al 100,000
307 21201 A 200,000 0 200,000
= 100,000
Al 100,000
10 ALl SXAIEEE2EHEX 200,000 0 200,000
OSYEUHHH 2SI (IISHSSAMESIH)
200,000,000 =14 200,000
< 100,000
Al 100,000
HAsSHANS N 1,546,048 1,271,500 274,548
= 1,039,578
< 96,254
Al 410,216
A28 X 29,200 93,500 264,300
201 et 700 700 0
01 At 22l 700 700 0
O3 2d=¢ 700
PHMSE SYIANE ML
70,0003 x501+23] 700
307 gl2tol & 28,500 92,800 A 64,300
11T ALS S XAEE = 28,500 92,800 A 64,300
OAMEINZSI EA2S 28,500,000 » 14! 28,500
22=X K& 1,106,348 775,000 331,348
= 885,078
< 44,254
Al 177,016
301 et a = 1,106,348 775,000 331,348
= 885,078
< 44,254
Al 177,016
01 MEIBEZE 05z 1,106,348 775,000 331,348
(OFIF=1—PN 1,106,348,000& 14 1,106,348
= 885,078
< 44,254
Al 177,016
Tael 22X 104,000 92,000 12,000
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X ZH -
L= B

el

EPARSE )
KSAAS =R DIt =
NASHAAS N

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
PEHS SEAd2AC2E =S|
4,200,000 *25J4 A& 105,000
= 73,500
Al 31,500
301 et d = 105,000 105,000 0
= 73,500
Al 31,500
01 MI2EZE 46z 105,000 105,000 0
OstHs SgMd2el X
4,200,000 254 & 105,000
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11 A EXAIEEX 60,000 63,000 A 3,000
OZIICIE Helold JdHetdl XA
60,000,000 14! 60,000
200 ME20E0d & 22AHH XN 8,400 8,400 0
307 QI2t0| & 8,400 8,400 0
11T A EXAIEEX 8,400 8,400 0
OZ0HOF M2 00| 28 22 X&
8,400,000 =14l 8,400
BRG] 29 6,370 5,460 910
201 LBt 6,370 5,460 910
01 AP 22| d| 6,370 5,460 910




AN SXEHD
g 2N E

gelr ol 28X (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

2d+g 6,370
X

70,0003 132! %73 6,370

2SI gRFA 9,600 6,480 3,120

=]l 9,600 6,480 3,120

]l 9,600 6,480 3,120
A g4 800,000& »12& 9,600

,843,020 7,116,581 726,439
,921,510
,960,755
,960,755

=W
- . N

307 glztol & ,843,020 7,116,581 726,439
.921,510
,960,755

,960,755

= W
- L N

=8 7,843,020 7,116,581 726,439
plofelold 6,200,000, 0003 =14 6,200,000

3,100,000

1,550,000

1,550,000

OR=TUFSE=JURESNVES 376,020,000& * 14! 376,020

188,010

94,005
94,005
OFMOIEZHE 0l E 673,000,000& =14 673,000
336,500
168,250
168,250
OAZHHZE WA 450,000,000& *14] 450,000
225,000
112,500
112,500
OZO0HOtS & 1 At 144,000,000& * 14! 144,000
72,000
36,000
36,000

Z W = M W = N H = MW

= Hn

ESUAIA MM X3 6,283,020 4,221,000 2,062,020
3,141,510

1,570,755
1,570,755

= N W

6,283,020 4,221,000 2,062,020
3,141,510

1,570,755
1,570,755

= M W

of 6,283,020 4,221,000 2,062,020
WA 3,033,020, 000 * 14 3,033,020
1,516,510

H




SN =SXHHD

g 2N E

e ol 29X (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 758,255
Al 758,255
ORANZREHIMAYI 2,880,000, 000& 1Al 2,880,000
= 1,440,000
o= 720,000
Al 720,000
Os0l& 2SN SE4g
370,000,000 1Al 370,000
= 185,000
o= 92,500
Al 92,500
Helold WA MRS X 2,193,750 2,211,510 A 17,760
& 438,750
Al 1,755,000
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301 LBt A= 211,200 192,000 19,200
12 JIEtE2 A= 211,200 192,000 19,200
O0E0IE EESWA #2434
17,600,000 x12& 211,200




AN SXEHD
g 2N E

gelr ol 28X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oegl0ld "otels asSAdE 30 =2 K& 27,000 27,000 0
307 gl2tol & 27,000 27,000 0
02 It M AHE L 27,000 27,000 0
OO0ZI0IT BIIQIE HSAM B0 242
300,000 904 2 27,000
HEold gx0t &0t 3l 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
Oonglold E=0t etotstal
6,000,000& » 14! 6,000
Heold Esndd d24d 235 11,000 6,000 5,000
201 Let2d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
O3 2d=¢ 2,000
DOHEOIE BN LA
1,000, 000& *23| 2,000
301 gt d= 9,000 4,000 5,000
09 HALAHIEA S 9,000 4,000 5,000
OOE0IE 2SNAY DIFAH S
2,000,000& »23l 4,000
OLR0R0IE 2RI BER 214
5,000,000& » 14! 5,000
BRI g2F4 9,600 8,640 960
202 44l 9,600 8,640 960
01 SLHOIYI 9,600 8,640 960
ESId g2F4 800,000& »12& 9,600
222X 59,565,970 57,505,999 2,059,971
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